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1. #fE= —REARIT AL I—F
2. ;44 = |BAOV-EN40,50,60VAS (-BS,-BSG)
3. HI[EET
(ORI E=E:M M= 1509 kg
QB/EE W W=M X 10/1000= 15.09 kN
(2)7vHh—RILE
OBEHE n = 8 V.
QR JLME  d (FEFR) M 12
@—Ah-YnEhErmEiE (FFIZLIHEIE) A= 11304  |cm?
@R BEEZ-IBEEDSIRYEZITHIRBIO T H—RILMERE: nt
nt= 4 N
@) FEfELUBSFELETOES hG= 59.3 cm
(M) REFT B AR BHT=RILER IS = 166.0 cm

(5)ET A ARMLAT=RILER LA SHEERE D FE TOKT IR
IG=[___ 700 Jem (G=1/2)

4. BRETETE
(ERETAKEEE KH KH= 15 &35,
(2)ERETHA/KE#MESN FH FH=KHXW= 22.64 kN
() ERETHMEMEN FV FV=1/2xFH= 11.32 kN

(A)T7oh—rRILEDIRE=YDSIRA :Rb

Rb={FH-hG— (W—FV)-IG}/{I-nt}=[ 16 |kN

(B)YFUA—HRILEDIAREFYITERTHEAMA :Q

Q=FH/n=| 283  |kN

(B)7oh—mRILMZET B NE

DBI-RYRAHE o 0 =Rb/A=| 1.44 |kN/cm?
o= 144 | <fi=[__176 _ |kN/cm’
QEAMIEHE T T =Q/A=]| 250 [KN/cm?

r=[__250 | <fs=[__ 101 JkN/cm?

Q5| RYEBAMERFFICZITHIBE
fts=14ft—167 =] 206 |kN/cm?

o=[__ 144 | <fts=[__ 206 |kN/cm?
(7) T2 LR ERRET - B Tie8t 1 (2014FR—BMFEABERBE L 2—)DHR1EY

D7 h—HRILMELE = HEBIEERTA—RILE |
@avy)-tEE=[___ 150 _ |mm = 015 [m
QRILFDIEHIAHA RS
=mm = 0.13 m
@HFAo|IEhEHE Ta= 9.2 kN

Ta=[ 92 JWN>Re=[ 16 kN
BLEDRELY, FUh—RILNETALBEERL TS,

CE)1. AEDTELICEWT, 7oAh—HRILEDEIBBVFEA T RDONIYBELGVRICEEEFZ
ERAL TS,

BAOV-EN-VASTIEREHTEE |KEEE 15 HEEIEBFRTVH—RILE WANR1-0551
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